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CLASS-XI
MATHEMATICS

Time Allowed : 3 Hrs. Maximum Marks : 100

Please check that this question paper contains 3 printed pages.
Please check that this question paper contains 26 questions.
Please write down the serial number of the question before attempting it.

There is reading time for 15 minutes. Students will read the question paper during
this time and will not write any answer on the answer script during this period.

General Instructions:

1. This question paper consists of 26 questions divided into three sections.
Section A consists of 6 questions of 1 mark each.
Section B consists of 13 questions of 4 marks each.
Section C consists of 7 questions of 6 marks each.
2.  There is no overall choice. However, internal choice is given in four questions of 4
marks each and two questions of 6 marks each.
3. Use of calculator is not permitted.
Section-A
1. Write the principal argument of Z = 3 + i\/3
2. An arc of length R units subtends an angle 6 at the centre of circle of radius R. Find
the value of 6.
3. Solve the following in-equation for x, where x is a natural number :
5x — 2 < 3x + 3
: 1+x-1
4. Evaluate: lim ¥-T*72 . 0,x>-1
x—)O X
. o . 2n
5. Find the derivative of flx) = cosx — sinx at X = 3
6. If 10' is the only middle term in the expansion of (1 + x)*, n e N. Write its last

term.



10.

11.

12.

13.

Section-B

In an examination, 80% students passed in mathematics, 70% passed in science
and 15% failed in both subjects. If 390 students passed in both subjects then find
the total number of students who appeared in the examination.

Write the domain of fix) = x2 + 1 and draw its graph. Also find the value of x for
which filx) = flx + 1)
OR

1-x, x<0
Draw the graph of f(x)=: 1, x = 0. Also write its range.
1+x, x>0

If in triangle ABC, cos A = COZB , prove that triangle is an isosceles triangle.
a

OR

9 A

2C —)=c+a-b
2

In any triangle ABC, prove that 2(a sin 2 + ¢ sin

7
Find the general solution of 3 tanx + cotx = 5cosecx, x # nn, (2n + 1)5 where

nel2.

C—H.,a,b,ceR,a;ﬁO,c;til-PrOVGthat a2 +b%2=1 andé=

If ¢ +ib= 3
c—1 a -1

OR
Find the square root of Z = 6 — 8i

If the coefficient of (r — 5)* term and (2r — 1)* term in the expansion of (1 + x)%*
are equal. Find the value of r.

If the first term of G.P. is ‘@’ and nth term is ‘6’ and P denotes the product of first
n terms. Prove that P? = (ab)".

OR

If the sum of n terms of two A.P.’s are in the ratio 3n + 8 : 7, + 15, find the ratio
of their 12" terms.






